LRR

BAF

0.8

0.4

0.0

Scan 280 — Chromosome 1 — ANXA11 G38R_A01

! ! ! !
50 100 150 200

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

250

50 100 150 200

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

1.0

0.5

0.0

Scan 280 — Chromosome 2 — ANXA11 G38R_A01

T T T T T T
0 50 100 150 200 250

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

0 50 100 150 200 250

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

OMNEOTNFDORETNH . ONH COH ANHORRD — N O-63-6AN—NCD. — =M — 0D E-a\M
LOOLOSIISIO00TNN—(QOOLOROMNN - —HeeH—RMISIN kNIt I eeHANN M09S LOXGRONSS




Scan 280 - Chromosome 3 — ANXA11 G38R_A01
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Scan 280 - Chromosome 8 — ANXA11 G38R_A01
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Scan 280 — Chromosome 9 — ANXA11 G38R_A01
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Scan 280 - Chromosome 10 — ANXA11 G38R_A01
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Scan 280 - Chromosome 14 — ANXA11 G38R_A01
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